
GRE模拟题：自测试题三（7） PDF转换可能丢失图片或格式

，建议阅读原文

https://www.100test.com/kao_ti2020/123/2021_2022_GRE_E6_A8

_A1_E6_8B_9F_E9_c86_123988.htm 18.It can be inferred that the

author of the passage expects that the experience of the student

mentioned as having studied Wife in the Right would have which of

the fol- lowing effects？ （A） It would lead the student to

disregard information found in the Bibliotheca Britannica. （B） It

would teach the student to question the accuracy of certain kinds of

information sources when studying neglected authors. （C） It

would teach the student to avoid the use of refer- ence sources in

studying neglected authors. （D） It would help the student to

understand the impor- tance of first editions in establishing the

author- ship of plays. （E） It would enhance the students

appreciation of the works of authors not included in the canon. 19.

The author of the passage suggests that which of the following is a

disadvantage of the strategy employed in the experimental scholarly

methods course？ （A） Students were not given an opportunity to

study women writers outside the canon. （B） Students original

work would not be appreciated by recognized scholars. （C） Little

scholarly work has been done on the work of Elizabeth Griffith. （D

） Most of the students in the course had had little opportunity to

study eighteenth-century literature. （E） Students were not given

an opportunity to encoun- ter certain sources of information that

could prove useful in their future studies. 100Test 下载频道开通，
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